BIOLOGY

BOOKS - TRUEMAN BIOLOGY

NEET - 2013 (PLANT ANATOMY)

1. Lenticles are involved in

A. Food transport
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B. Photosynthesis

C. Transpiration

D. Gaseous exchange

Answer: 4

o Watch Video Solution

2. Interfascicular develops from the cells of

A. Endodermis

B. Pericycle
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C. Medullary rays

D. Xylem parenchyma

Answer: 3

o Watch Video Solution

3. Age of tree can be estimated by

A. number of annual rings

B. diameter of its heartwood

C. its height and girth
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D. biomass

Answer: 1

o Watch Video Solution



https://dl.doubtnut.com/l/_QpKIQBNrgcCn

